BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA) EXAMINATION DEPARTMENT

Date: JUNE-2017

Reference: EXAM / JPP / BITIC / MESRA / MPHARMA-III & IV T / (SP/17) 2016-2017

By the order of Examination committee, the following is the result of MPHARMA - III & IV T Semester held in the month of APRIL-2017

SESSION : 2	SESSION: 2016-2017 CLASS: MPHARM				ANCH	: PH	ARMA	CY					SEMES	TER/	TRIMES	STER	: 111	& IV T	М	MONTH OF EXAM : APRIL-2017			
ROLL NO	NAME	L		4141(35)	CD	- - PT	- CD	-	- -	PT	- CD	Рт	- -	БТ	- -	PT.	CD	ГРТ.	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS	
		$oldsymbol{ol}}}}}}}}}}}}}}}}}}$	GR.	PI.	GR.	PI.	GR.	PT.	GR.	PI.	GR.	PI.	GR.	PI.	GR.	PI.	GR.	P1.					
MPH/10002/15	SHASHIDHAR SHARMA M R	U	A+	315.0	-	-	-	-	-	-	-	-	-	-	-		-	-	315.0	35.0	9.00		
WIFTI/10002/15	SHASHIDHAR SHARWA W R	L	-	-	-	- 1	-	-	-	-	-	-	-	- I	-	-	-	l - 1	310.0	35.0	9.00	-	

MPS4141(35)	: THESIS	-		\sim $^{\prime}$
-	: :	-		D. Jen
-	: :	-		Jam- 1.
-	:	-		
-		-	C	ontroller of Examinations

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA) EXAMINATION DEPARTMENT

Date: JUNE-2017

Reference: EXAM / JPP / BITIC / MESRA / MPHARMA-III & IV T1 / (SP/17) 2016-2017

By the order of Examination committee, the following is the result of MPHARMA - III & IV T1 Semester held in the month of APRIL-2017

SESSION : 2	016-2017 CLASS : MPHARN	IA	BRANCH : PHARMACY									S	EMEST	ER / TI	RIMES	ΓER	: 111 &	М	ONTH OF EXA	M : APF	RIL-2017	
ROLL NO	ROLL NO NAME		MPS4111(35) -		-		-	-				-	-	-			-	-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
MPH/10003/15	PRIYA SHAW	U	A+	315.0	-	-	-				-	-	-	-			-	-	315.0	35.0	9.00	_
1011 11/10000/10	THE SHAW	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	310.0	33.0	3.00	
MPH/10008/15	AKASH BHATTACHARJEE	U	A+	315.0	-	-	-	-		-	-	-	-	<u> </u> -	-	_	-	-	315.0	35.0	9.00	_
1011 17 100007 13	ARAGIBIATIAGIARME	L	-	-	-	-	-			-	-	-	-	-		_	-		315.0			1
MPH/10014/15	KUMARI LILY	U	A+	315.0	-	-	-	-		-	-	-	-	-	-	-	-	-	315.0	35.0	9.00	_
1011 1 1/10014/13	INDIVIANI EIE I	L	-	-	-	-	-	-		-	-	-	-	-	-	-	-	-	313.0	33.0	9.00	_
MPH/10018/15	TABASSUM KHAIR BARBHUIYA	U	Ex	350.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	350.0	35.0	10.00	_
WITT/ 100 10/ 15	TABASSOW KITAIN BARBHOTTA	L	-	-	-	-	-	-	_	-	-	-	-	-	-	_	-	-	330.0	33.0	10.00	_
MPH/10038/15	OINDRII A CHAKRAROPTY	U	A+	315.0	-	-	-	-		-	-	-	-	-	-	-	-	-	315.0	35.0	9.00	
WITT/10036/15	OINDRILA CHAKRABORTY	L	-	-	-	-	-	-	_	-	-	-	-	-	-	-	-	315.0	313.0	33.0	9.00	-

MPS4111(35) : THESIS

Controller of Examinations

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA)

EXAMINATION DEPARTMENT

Reference: EXAM / JPP / BITIC / MESRA / MPHARMA-III & IV T3 / (SP/17) 2016-2017

By the order of Examination committee, the following is the result of MPHARMA - III & IV T3 Semester held in the month of APRIL-2017 Date: JUNE-2017

SESSION : 2	2016-2017 CLASS : MPHARM		BRA			S	EMEST	ER / TI	RIMES	TER	: III &	IV T3	M	IONTH OF EXA	M : APF	RIL-2017						
ROLL NO	ROLL NO NAME		MPS4131(35) -			-		-		-	-		-		-		-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
MPH/10007/15	PRITHA BOSE	U	A+	315.0	-	-	-		-	-	-		-	-	_	-		<u> </u>	315.0	35.0	9.00	_
111111110007710	111111111111111111111111111111111111111	L	-	-	<u> </u>	-	-	<u> </u>	-		-		-	<u> </u>		-			0.10.0	00.0	0.00	
MPH/10015/15	RUPSA SETH	U	A+	315.0	-	-	-	-	-	-	-		-		_	-			315.0	35.0	9.00	_
1011111101010110	THE ST SETTI	L	-	-	-	-	-	-	-	-	-		-		-	-		-	010.0	00.0	0.00	
MPH/10016/15	IFTIKA SULTANA	U	A+	315.0	-	-	-	-	-	-	-	-	-	-		-	-	-	315.0	35.0	9.00	_
		L	-	-	-		-	<u> </u>	-	-	-					-			0.0.0	00.0	0.00	
MPH/10017/15	SHIVANI SHARMA	U	A+	315.0	-		-	<u> </u>	-	-	-			<u> </u>		-			315.0	35.0	9.00	_
		L	-	-	<u> - </u>	-	-	<u> </u>	-	-			-	<u> </u>		-		<u> </u>				
MPH/10022/15	SULAGNA KAR BHOWMIK	U	A+	315.0	-	-	-	<u> </u>	-	-	-			<u> </u>	<u> </u>	-	<u> </u>	<u> </u>	315.0	35.0	9.00	_
		L	-	-	<u> - </u>	-	-	<u> </u>	-	-		<u> </u>		<u> </u>		<u> - </u>	<u> </u>	<u> </u>	310.0	00.0		
MPH/10024/15	PANCHATAPA CHOUDHURI	U	A+	315.0	-	-	-	<u> </u>	-	-	-		-	<u> </u>		-	<u> </u>	<u> </u>	315.0	35.0	9.00	_
		L	-	-	-	-	-	<u> </u>	-	-	-		-	<u> </u>		-	<u> </u>					
MPH/10025/15	ANUPAMA BANERJEE	U	A+	315.0	-	-	-		-	-	-	-	-		-	-			315.0	35.0	9.00	_
101111/10020/10	/ IVOI / IW/ I B/ II VEI GEE	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	010.0	00.0	0.00	
MPH/10027/15	SOMDATTA ROY	U	A+	315.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	315.0	35.0	9.00	
WITT/10027/13	SONIDATTA NOT	L	-	_	-	-	-	-	-	-	-	-	-	-	-	-	-	-	310.0	35.0	9.00	_
MPH/10028/15	DIPAYAN MONDAL	U	F	0.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	00.0	35.0	0.00	_
WITTI/10020/13	BITATAN WONDAL	L	-	-	-	-	-	-	-	-	-	-	-	-		-	-	-	00.0	35.0	0.00	_
MPH/10029/15	SAYANTAN BANERJEE	U	A+	315.0	-	-	-	-	-	-	-		-	-	_	-	-		315.0	35.0	9.00	
1711 17 10020/10	S (17 (17 (17 E) (11 E) (11 E)	L	-	-	-	-	-	-	-	-	-	-	-	-	_	-		-	010.0	00.0	0.00	
MPH/10035/15	UROOJALAM	U	A+	315.0	-	-	-	-	-	-	-	-	-		_	-	-		315.0	35.0	9.00	_
1711 17 100007 10	OT COOT LET (W)	L	-	-		-	-		-	-	-	-	-	-		-]	010.0		0.00	

Controller of Examinations

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA)

EXAMINATION DEPARTMENT

Date: JUNE-2017

Reference: EXAM / JPP / BITIC / MESRA / MPHARMA-III & IV T4 / (SP/17) 2016-2017

By the order of Examination committee, the following is the result of MPHARMA - III & IV T4 Semester held in the month of APRIL-2017

SESSION : 2	016-2017 CLASS : MPHARM	Α		BR	ANCH	: Pl-	IARMA	.CY				,	SEMES	TER/	TRIMES	TER	: 111 8	IV T4	M	IONTH OF EXA	M : APF	RIL-2017
ROLL NO	ROLL NO NAME		MPS4151(4) -		-		-		-		-		-		-		-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
MPH/10021/15	ROMITA GHOSH	U	A+	36.0	-	-	-	-	_	_	-	-	-			-	-		36.0	4.0	9.00	_
WITTI 1002 I/ 10	TOWN I/Y GITGGIT	L	-	-	-	-	-	-		-	-	-	-		-		-		00.0	4.0	0.00	
MPH/10026/15	SHILPA MUKHERJEE	U	A+	36.0	-	-	-	-	_	-	-	-	-	-	-	-			36.0	4.0	9.00	_
WITTI/10020/13	OF HET A WORTHER DEE	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	30.0	4.0	3.00	_
MPH/10032/15	AVISHIKTA RAY	U	A+	36.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	36.0	4.0	9.00	_
WITTI/10032/13	AVIGINICIATION	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	36.0	7.0	0.00	
MPH/10033/15	AMRITA GHOSH	U	A+	36.0	-	-	-	-		-	-	-	-	-	-	-	-	-	36.0	4.0	9.00	_
101111/10000/10	AWINITA GITOGIT	L	-	-	-	-	-	-		-	-	-	-	-	-	-	-		30.0	4.0	3.00	_
MPH/10037/15	DEEPAK KUMAR	U	Α	32.0	-	-	-	-		-	-	-	-	-	-	-	-	-	32.0	4.0	8.00	_
WITTI/1003//13	DELI AK KOWAK	L	-	-	-	-	-	-		-	-	-	-	-	-	-	-		02.0	4.0	0.00	_
MPH/10039/15	SANJANA SHARMA	U	A+	36.0	-	-	-	-		-	-	-	-	-	-	-	-		36.0	4.0	9.00	
WIFT / 10039/15	JANJANA SHARIVIA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		30.0	4.0	9.00	-
MPH/10043/15	BHARAT KAUSHAL	U	Α	32.0	-	-	-	-	-	-	-	-	_	-	-	-	-	_	32.0	4.0	8.00	_
		L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-				

Controller of Examinations

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA) EXAMINATION DEPARTMENT

Reference: EXAM / JPP / BITIC / MESRA / MPHARMA-III & IV T2 / (SP/17) 2016-2017

By the order of Examination committee, the following is the result of MPHARMA - III & IV T2 Semester held in the month of APRIL-2017

Date: JUNE-2017

SESSION :	SESSION: 2016-2017 CLASS: MPHAR				ANCH	: PHA	RMACY						SEMI	ESTER /	TRIME	STER	: 111 &	V T2		MONTH OF EXA	AM : APRI	L-2017
ROLL NO	NAME	U	MPS	34101(35) -	-	-		-		-		-	-		-				TOTAL CREDIT POINTS	TOTAL CREDITS 35.0 35.0 35.0 35.0 35.0 35.0 35.0 35.0 35.0 35.0	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				1
MPH/10005/15	KAUSHANU SETT	U	A+	315.0	-	-	-	-		-		-	-		-		-		315.0	35.0	9.00	_
		<u> L</u>		-	-	-	-		-	-	-		-		-	<u> </u>	-					
MPH/10006/15	BALWANT SINGH BANI	U	A+	315.0	-	-	-	-		-			-		-		-	-	315.0	35.0	9.00	-
		<u> L</u>	-	-	-		-	-		-		-	-	-	-		-					
MPH/10009/15	SUDHIR MAJGAINYA	U	A+	315.0	-	-	-	-	-	-		-	-	-	-		-		315.0	35.0	9.00	-
		L	-	-	-	-	-	-	-	-	-	-	-	-	-		-					
MPH/10013/15	GALI PUNITH KUMAR	U	A+	315.0	-	-	-	-	-	-	-	-	-	-	-		-		315.0	35.0	9.00	-
		L	-	- 045.0	-	-	-	<u> </u>	-	-		<u> </u>	-	-	-	<u> </u>	-					
MPH/10019/15	AGRIMA NAUTIYAL	U		315.0	-	-	-	-	-	-	-	-	-	-	-		-	<u> </u>	315.0	35.0	9.00	-
	<u> </u>		- A+	315.0	-	-	<u> </u>	-	-	<u> </u> -	-	-	-	-	-	-	-	-				
MPH/10020/15	RUCHA VIJAY KHATI	U		315.0	_	_	<u> </u>	- -	-	-		- -		-	-	-	-	_	315.0	35.0	9.00	-
		U	_	245.0			<u> </u>					-		_		\vdash		_				
MPH/10031/15	ARYA VIDYAHARI			315.0	-	-	-	-	-	-				_					315.0	35.0	9.00	-
		<u> L</u>	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-					
MPH/10034/15	ASIYA KHAN	U		315.0	-	-	-	-	-	-	-	-	-	-	-	-	-		315.0	35.0	9.00	-
		L		- 045.0	-	-	-	-	-	-	-	-	-	-	-		-	<u> </u>				
MPH/10040/15	NIDHIKA VEDGARBHA	U .		315.0	-		-	-		-		-		-		_	-		315.0	35.0	9.00	-
	<u> </u>	L		- 215.0	-	-	<u> </u>	-	-	<u> </u>	-	-	-	-	-							
MPH/10041/15	JYOTI RANI	U		315.0	-	-	-	-	-	-	-	-		-	-		-		315.0	35.0	9.00	-
	<u> </u>	╬	-	315.0	-	-	-	<u> </u>	-	-		-	-	_	-	\vdash		<u> </u>				
MPH/10042/15	MIHINI SHARMA	U		315.0	_		<u> </u>	- 	-	-	-	- 		-	-	屵		\vdash	315.0	35.0	9.00	-
MIT 100 12 10		J L	<u> </u>				-	-	-											00.0		

MPS4101(35) : THESIS

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in